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1) Solve the following

a) 47 bl 28
+ 24 + 45

d) 268 + 327 349 + 218 f) 557 + 136

g) 413 + 229 + 136 e) 208 + 328 + 345
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Can you crack the code by solving the calculations below, using column
addition, and discover where the minions are going on summer holiday?

0-49

50-99

100-149

LETTER

150 - 199

200 - 249

250 - 299

300-349

350 - 399

400 - 449

450 - 499

500 - 549

550 - 599

600- 649

650 - 699

700-749

750 - 799

800 - 849

850 - 899

900 - 849

950-999
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58 + 25 =
147 + 45 =

408 + 77 =

534 + 219 =

459 + 428 =

252 +119 +326 =
57 + 118 + 207 =
143 + 174 =
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